Simplify algebraic expressions by collecting
like terms, using the = symbol

o a) Simplify the expressions.

h+h+h+h+h=5HK 3h+2h=| O In
/ ah+h=| 5 9h-4h =| Sh
0 Match each expression to its simplified form. b) What do you notice about your answers?
2b + 5b 5h c¢) Write five expressions that are equivalent to 3g.
E.q. 0 tq+9q=3g 106, -~ #q = 3¢
U J UV I J J J N
7b - 2b ' 6b 26 +5333 ‘3‘33 —‘Té\c‘j 2-33
La ~ G = 2q
JoJ J
3b x 2 i 7b
o Simplify the expressions by collecting like terms.
2b-7b - T -5b
a) p+p+p+p= 4L e
b) 7f+5f= |Q(_
o Mo and Eva are simplifying expressions. 0 11g-8g= 3
Tick the correct answers. 5
d) 5h+6h+7h=| |3
Expression Mo’s answer Eva’s answer /
V.
9 -a Qa - a =19 9a — a = 8a /// e) 4n+6n-2n=| ©n
3h° + 2h? 3h% + 2h? = 5h? 3h% + 2h? = 5h° Y L
9) 3u-7u=| — LW
3a +3b 3a+3b=6ab | 3a+3b=3a+3h |
d v
5g + 2 5g+255g+2// S5g+2=7g h) 18y2+3y? = 2\3
6 x 2y 6 x2y=12y / 6 x 2y = 8y i) 8ef—Tef + ef = 294:
) 08m-035m+07m=| | 15m

k) -5p +7p = QP
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o a) Explain why you cannot simplify 3a + 2m.

b) Explain why 2b + 3 is not equivalent to 5b.

¢) Explain why you can simplify 7k - 3k + 2k + 3a.

o Correct Dexter’s mistakes.

Dexter’s working

Correct working

7c + 6¢ = 13¢2

2a + 3a + 2b=7ab

3y + 2y? = 53

Y+y+y+x+x+x+x=3x+4y

2g — 10g = 8¢

0 Is it possible to simplify 3pq + 5¢p?

Explain your answer to a partner.

0 Simplify these expressions.

Set 1 Set 2
3a+2a+4b+3b= 4p +3q +2p +7q =
3a+4b+2a+3b= 50+ p+5q+5q =
4b + 2a + 3b + 3a = 8p-2p+8q+2q =
3b+2a+3a+4b= 129 +3p +3p-2q =

Write one more expression that would go in each set.

° Simplify the expressions by collecting like terms.

a) 7a + 3b +4a + 5b

b) 6g+3h+4h +g

¢ 8y+4p-3y+7p-y

d) 8 +11a-8b +a

e) 94k +7.8m -5.2m - 4.9k

f) 4g° +3g?2-3g°+8g%+g° _od

g) 3.9t+39 -3 +9

h) 5np +4n + 3p + 2pn

i) 43g°-6g+4g°+8.6g + 2.7g7
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